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3D shapes, Pythagoras’ Theorem, Ratio

life questions. This requires you to be able to take key
information from a question and use your knowledge of ratios
(and other areas of the curriculum) to solve the problem.
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Topic ~—1 Information Examples Sparx clip
Representations | Faces = flat surfaces Pian view & U719, U743.
of 3D shapes | Edges = sides/lengths v

Vertices = corners
Plans and elevations are a way of representing a 33- > ~
dimensional Object. A Cube haS 6 Front elevation Side elevation
We have three views of the 33D shape: faces Front elevation Side etevation Plan view

e From the front of the shape, called the front elevation ' = ==ss

. ; X 12 edges and 8
e From the side of the shape, called side elevation .
e From above looking down on the shape, called the plan vertices.
view.
Pythagoras’ For any right angled a=v b=8. c=10 U851, U385,
Theorem in 2D | triangle Used to find missing lengths. o . N U325.
- Mt Finding a Shorter Side a - =c —b
\_\\ a and b are the shorter sides, , \\\ 10 ¥ =100 64
k! . o
a \\f: cis the hypotenuse (longest SUBTRACT! ™. =36
i side). e, '
~ ] it =06
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b a’ + b? = ¢*

3 Ratio Simplifying ratios is a way of using common factors to Simplify 35 7S U529, U687,
divide all the numbers in a ratio until they cannot be FF o F oF(aAS. TSy — 1S us77.
divided further. ga4s - TS — =S - 1S - =S 1=

. — = =
Share the amount £120£120 in the ratio 1:4.1:4.
Dividing ratios is a way of sharing a quantity in Add the parts of the ratio together. 1+4=5
given parts of a ratio. Divide the quantity by the sum of the parts. 120:5=24
Multiply the share value by each part in the ratio.
24x1=£2424x4=£96 Answer, £24:£96
4 Ratio word Ratio problem solving is a collection of word problems that For exarme be U926, U721,
problems link together aspects of ratio and proportion into more real S Bao of swweots s sharcd U357, U610
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